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UNIT TEST.6.VISION & WORLD OF COLOURS
time:30 min Max.mark: 20

Distance to the near point of a person having the defect of myopia is ........ 1
(25 cm/ greater than 25 cm/ less than 25 cm)
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The power of a concave lens of focal length 50 cm is ........ dioptre. 1
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Complete the pairs suitably. 1

ii. dispersion: refraction; tyndal effect: .......
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The colour of upper edge of rainbow is ........ 1
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Red colour has been given to danger signal. Which of the following statement is not correct 1
related to this.

a. Red has longest wave length.

b. Red undergoes least scattering.

c. Red undergoes most scattering.
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Give one consequence of light pollution. 1
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Which of the following is NOT related to the formation of rainbow? 1
(scattering/refraction/dispersion/internal reflection)
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When light is passed through fog/smoke, its path can be seen. This phenomenon is called ....... 1
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When does the international Dark Sky Association celebrates International Dark Sky Week? 1
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10. Cornea is taken from the eye donor when he dies. It is to be harvested within ..... hours of death. 1
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11. See the figure. Defect of an eye is corrected by a 2
lens.
a. Power of the correcting lens is ........
(positive/negative)
b. Name the defect of this eye. ! ’
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12. When sun light is passed through a prism, it undergoes dispersion. 2
a. Of the seven colours in white light, which has longest wave length?
b. Which colour undergoes least deviation?
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13. Rainbow is formed due to dispersion at the suspended water droplet present in the atmosphere. 2
Draw the path of light passing through a droplet.
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14. Explain why the sun appears red during sun set and sun rise? 2
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15. A person is not able to see objects beyond 1.5 m. 2
a. Which of the following is likely to be the defect of his eye?
(myopia/hypermetropia/presbyopia)
b. Suggest a lens to rectify this defect.
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